Mathematics
http://www.aimspress.com/journal/Math

## Research article

## Homomorphism-derivation functional inequalities in $C^{*}$-algebras

## Choonkil Park ${ }^{1, *}$ and XiaoYing Wu ${ }^{2}$

${ }^{1}$ Research Institute for Natural Sciences, Hanyang University, Seoul 04763, Korea
${ }^{2}$ Department of Mathematics, Shaanxi University of Science and Technology, Xi'an, Shaanxi, P. R. China

* Correspondence: Email: baak@hanyang.ac.kr; Tel: +82222200892; Fax: +82222810019.

Abstract: In this paper, we introduce and solve the following additive-additive ( $s, t$ )-functional inequality

$$
\begin{align*}
& \|g(x+y)-g(x)-g(y)\|+\left\|2 h\left(\frac{x+y}{2}\right)-h(x)-h(y)\right\|  \tag{0.1}\\
& \leq\left\|s\left(2 g\left(\frac{x+y}{2}\right)-g(x)-g(y)\right)\right\|+\|t(h(x+y)-h(x)-h(y))\|,
\end{align*}
$$

where $s$ and $t$ are fixed nonzero complex numbers with $|s|<1$ and $|t|<1$. Furthermore, we investigate homomorphisms and derivations in complex Banach algebras and unital $C^{*}$-algebras, associated to the additive-additive ( $s, t$ )-functional inequality ( 0.1 ) under some extra condition.
Moreover, we introduce and solve the following additive-additive ( $s, t$ )-functional inequality

$$
\begin{align*}
& \|g(x+y+z)-g(x)-g(y)-g(z)\|+\left\|3 h\left(\frac{x+y+z}{3}\right)+h(x-2 y+z)+h(x+y-2 z)-3 h(x)\right\| \\
& \leq\left\|s\left(3 g\left(\frac{x+y+z}{3}\right)-g(x)-g(y)-g(z)\right)\right\|  \tag{0.2}\\
& +\|t(h(x+y+z)+h(x-2 y+z)+h(x+y-2 z)-3 h(x))\|,
\end{align*}
$$

where $s$ and $t$ are fixed nonzero complex numbers with $|s|<1$ and $|t|<1$. Furthermore, we investigate $C^{*}$-ternary derivations and $C^{*}$-ternary homomorphisms in $C^{*}$-ternary algebras, associated to the additive-additive ( $s, t$ )-functional inequality ( 0.2 ) under some extra condition.

Keywords: additive-additive ( $s, t$ )-functional inequality; derivation and homomorphism in $C^{*}$-ternary algebra; derivation and homomorphism in unital $C^{*}$-algebra
Mathematics Subject Classification: 47B47, 11E20, 17B40, 39B52, 46L05, 39B72

## 1. Introduction and preliminaries

Let $A$ be a complex Banach algebra. A $\mathbb{C}$-linear mapping $g: A \rightarrow A$ is a derivation if $g: A \rightarrow A$ satisfies

$$
g(x y)=g(x) y+x g(y),
$$

for all $x, y \in A$, and a $\mathbb{C}$-linear mapping $h: A \rightarrow A$ is a homomorphism if $h: A \rightarrow A$ satisfies

$$
h(x y)=h(x) h(y),
$$

for all $x, y \in A$,
A $C^{*}$-ternary algebra is a complex Banach space $A$, equipped with a ternary product $(x, y, z) \mapsto[x, y, z]$ of $A^{3}$ into $A$, which is $\mathbb{C}$-linear in the outer variables, conjugate $\mathbb{C}$-linear in the middle variable, and associative in the sense that $[x, y,[z, w, v]]=[x,[w, z, y], v]=[[x, y, z], w, v]$, and satisfies $\|[x, y, z]\| \leq\|x\| \cdot\|y\| \cdot\|z\|$ and $\|[x, x, x]\|=\|x\|^{3}$ (see [18]).

Let $A$ be a $C^{*}$-ternary algebra. A $\mathbb{C}$-linear mapping $g: A \rightarrow A$ is a $C^{*}$-ternary derivation if $g: A \rightarrow A$ satisfies

$$
g([x, y, z])=[g(x), y, z]+[x, g(y), z]+[x, y, g(z)],
$$

for all $x, y, z \in A$, and a $\mathbb{C}$-linear mapping $h: A \rightarrow A$ is a $C^{*}$-ternary homomorphism if $h: A \rightarrow A$ satisfies

$$
h([x, y, z])=[h(x), h(y), h(z)],
$$

for all $x, y, z \in A$.
In 1940, Ulam [16] raised a question the stability problem for functional equations, and Hyers [8], Aoki [1], Rassias [14] and Găvruta [7] have given positive answers for additive additive functional equations in Banach spaces. Park [11,12] introduced new additive functional inequalities and proved the Hyers-Ulam stability of the additive functional inequalities in Banach spaces and non-Archimedean Banach spaces. The stability problems of various functional equations in various spaces have been extensively investigated by a number of authors (see [2-6, 13, 15, 17]).

This paper is organized as follows: In Sections 2 and 3, we solve the additive-additive $(s, t)$-functional inequality ( 0.1 ). Furthermore, we investigate homomorphisms and derivations on compex Banach algebras and unital $C^{*}$-algebras associated to the additive-additive ( $s, t$ )-functional inequality ( 0.1 ) and the following functional inequality

$$
\begin{equation*}
\|g(x y)-g(x) y-x g(y)\|+\|h(x y)-h(x) h(y)\| \leq \varphi(x, y) \tag{1.1}
\end{equation*}
$$

In Section 4, we solve the additive-additive ( $s, t$ )-functional inequality ( 0.2 ). Furthermore, we investigate $C^{*}$-ternary homomorphisms and $C^{*}$-ternary derivations on $C^{*}$-ternary algebras associated to the additive-additive ( $s, t$ )-functional inequality ( 0.2 ) and the following functional inequality

$$
\begin{align*}
& \|g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)]\|  \tag{1.2}\\
& +\|h([x, y, z])-[h(x), h(y), h(z)]\| \leq \varphi(x, y, z) .
\end{align*}
$$

Throughout this paper, assume that $A$ is a complex Banach algebra and that $B$ is a $C^{*}$-ternary algebra and that $s$ and $t$ are fixed nonzero complex numbers with $|s|<1$ and $|t|<1$.

## 2. Additive-additive ( $s, t$ )-functional inequality ( 0.1 ) in Banach algebras

In this section, we solve and investigate the additive-additive $(s, t)$-functional inequality $(0.1)$ in complex Banach algebras.

Lemma 2.1. If mappings $g, h: A \rightarrow A$ satisfy $g(0)=h(0)=0$ and

$$
\begin{align*}
& \|g(x+y)-g(x)-g(y)\|+\left\|2 h\left(\frac{x+y}{2}\right)-h(x)-h(y)\right\|  \tag{2.1}\\
& \leq\left\|s\left(2 g\left(\frac{x+y}{2}\right)-g(x)-g(y)\right)\right\|+\|t(h(x+y)-h(x)-h(y))\|,
\end{align*}
$$

for all $x, y \in A$, then the mappings $g, h: A \rightarrow A$ are additive.
Proof. Letting $x=y$ in (2.1), we get

$$
\|g(2 x)-2 g(x)\| \leq\|t(h(2 x)-2 h(x))\|,
$$

for all $x \in A$.
Letting $y=0$ in (2.1), we get

$$
\left\|2 h\left(\frac{x}{2}\right)-h(x)\right\| \leq\left\|s\left(2 g\left(\frac{x}{2}\right)-g(x)\right)\right\|
$$

and so

$$
\|2 h(x)-h(2 x)\| \leq\|s(2 g(x)-g(2 x))\|,
$$

for all $x \in A$. Thus

$$
\begin{aligned}
& \|g(2 x)-2 g(x)\| \leq\|s t(2 g(x)-g(2 x))\|, \\
& \|2 h(x)-h(2 x)\| \leq\|s t(h(2 x)-2 h(x))\|,
\end{aligned}
$$

for all $x \in A$. So $h(2 x)=2 h(x)$ and $g(2 x)=2 g(x)$ for all $x \in A$, since $|s t|<1$. It follows from (2.1) that

$$
\begin{aligned}
& \|g(x+y)-g(x)-g(y)\|+\|h(x+y)-h(x)-h(y)\| \\
& \leq\|s(g(x+y)-g(x)-g(y))\|+\|t(h(x+y)-h(x)-h(y))\|,
\end{aligned}
$$

for all $x, y \in A$. Thus $g(x+y)-g(x)-g(y)=0$ and $h(x+y)-h(x)-h(y)=0$ for all $x \in A$, since $|s|<1$ and $|t|<1$. So the mappings $g, h: A \rightarrow A$ are additive.

Lemma 2.2. [10, Theorem 2.1] Let $f: A \rightarrow A$ be a mapping such that

$$
f(\lambda(a+b))=\lambda f(a)+\lambda f(b)
$$

for all $\lambda \in \mathbb{T}^{1}:=\{\xi \in \mathbb{C}:|\xi|=1\}$ and all $a, b \in A$. Then the mapping $f: A \rightarrow A$ is $\mathbb{C}$-linear.
Now, we investigate homomorphisms and derivations in complex Banach algebras associated to the additive-additive ( $s, t$ )-functional inequality (2.1).

Theorem 2.3. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function such that

$$
\begin{equation*}
\sum_{j=1}^{\infty} 4^{j} \varphi\left(\frac{x}{2^{j}}, \frac{y}{2^{j}}\right)<\infty \tag{2.2}
\end{equation*}
$$

for all $x, y \in A$. Let $g, h: A \rightarrow A$ be mappings satisfying $g(0)=h(0)=0$ and

$$
\begin{align*}
& \|g(\lambda(x+y))-\lambda g(x)-\lambda g(y)\|+\left\|2 h\left(\lambda \frac{x+y}{2}\right)-\lambda h(x)-\lambda h(y)\right\|  \tag{2.3}\\
& \leq\left\|s\left(2 g\left(\lambda \frac{x+y}{2}\right)-\lambda g(x)-\lambda g(y)\right)\right\|+\|t(h(\lambda(x+y))-\lambda h(x)-\lambda h(y))\|,
\end{align*}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y \in A$. If $g, h: A \rightarrow A$ satisfy

$$
\begin{equation*}
\|g(x y)-g(x) y-x g(y)\|+\|h(x y)-h(x) h(y)\| \leq \varphi(x, y), \tag{2.4}
\end{equation*}
$$

for all $x, y \in A$, then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Proof. Let $\lambda=1$ in (2.3). By Lemma 2.1, the mappings $g, h: A \rightarrow A$ are additive.
It follows from (2.3) that

$$
\begin{aligned}
& \|g(\lambda(x+y))-\lambda g(x)-\lambda g(y)\|+\|h(\lambda(x+y))-\lambda h(x)-\lambda h(y)\| \\
& \leq\|s(g(\lambda(x+y))-\lambda g(x)-\lambda g(y))\|+\|t(h(\lambda(x+y))-\lambda h(x)-\lambda h(y))\|,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y \in A$. Since $|s|<1$ and $|t|<1$,

$$
\begin{aligned}
& g(\lambda(x+y))-\lambda g(x)-\lambda g(y)=0, \\
& h(\lambda(x+y))-\lambda h(x)-\lambda h(y)=0,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y \in A$. Thus by Lemma 2.2, the mappings $g, h: A \rightarrow A$ are $\mathbb{C}$-linear.
It follows from (2.4) and the additivity of $g, h$ that

$$
\begin{aligned}
& \|g(x y)-g(x) y-x g(y)\|+\|h(x y)-h(x) h(y)\| \\
& =4^{n}\left\|g\left(\frac{x y}{4^{n}}\right)-g\left(\frac{x}{2^{n}}\right) \frac{y}{2^{n}}-\frac{x}{2^{n}} g\left(\frac{y}{2^{n}}\right)\right\|+4^{n}\left\|h\left(\frac{x y}{4^{n}}\right)-h\left(\frac{x}{2^{n}}\right) h\left(\frac{y}{2^{n}}\right)\right\| \\
& \leq 4^{n} \varphi\left(\frac{x}{2^{n}}, \frac{y}{2^{n}}\right),
\end{aligned}
$$

which tends to zero as $n \rightarrow \infty$, by (2.2). So

$$
\begin{aligned}
g(x y)-g(x) y-x g(y) & =0, \\
h(x y)-h(x) h(y) & =0,
\end{aligned}
$$

for all $x, y \in A$. Hence the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Theorem 2.4. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function and $g, h: A \rightarrow A$ be mappings satisfying $g(0)=$ $h(0)=0,(2.3),(2.4)$ and

$$
\begin{equation*}
\sum_{j=1}^{\infty} \frac{1}{4^{j}} \varphi\left(2^{j} x, 2^{j} y\right)<\infty, \tag{2.5}
\end{equation*}
$$

for all $x, y \in A$. Then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is $a$ homomorphism.

Proof. By the same reasoning as in the proof of Theorem 2.3, one can show that the mappings $g, h$ : $A \rightarrow A$ are $\mathbb{C}$-linear.

It follows from (2.4) and the additivity of $g, h$ that

$$
\begin{aligned}
& \|g(x y)-g(x) y-x g(y)\|+\|h(x y)-h(x) h(y)\| \\
& =\frac{1}{4^{n}}\left\|g\left(4^{n} x y\right)-g\left(2^{n} x\right)\left(2^{n} y\right)-\left(2^{n} x\right) g\left(2^{n} y\right)\right\|+\frac{1}{4^{n}}\left\|h\left(4^{n} x y\right)-h\left(2^{n} x\right) h\left(2^{n} y\right)\right\| \\
& \leq \frac{1}{4^{n}} \varphi\left(2^{n} x, 2^{n} y\right),
\end{aligned}
$$

which tends to zero as $n \rightarrow \infty$, by (2.5). So

$$
\begin{aligned}
g(x y)-g(x) y-x g(y) & =0, \\
h(x y)-h(x) h(y) & =0,
\end{aligned}
$$

for all $x, y \in A$. Hence the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Next, we investigate homomorphisms and derivations in complex Banach algebras associated to the additive-additive ( $s, t$ )-functional inequality (2.1) by using a similar method to the fixed point alternative.

Theorem 2.5. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function such that there exists an $L<1$ with

$$
\begin{equation*}
\varphi\left(\frac{x}{2}, \frac{y}{2}\right) \leq \frac{L}{4} \varphi(x, y) \tag{2.6}
\end{equation*}
$$

for all $x, y \in A$. Let $g, h: A \rightarrow A$ be mappings satisfying $g(0)=h(0)=0$, (2.3) and (2.4). Then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Proof. It follows from (2.6) that

$$
\sum_{j=1}^{\infty} 4^{j} \varphi\left(\frac{x}{2^{j}}, \frac{y}{2^{j}}\right) \leq \sum_{j=1}^{\infty} 4^{j} \frac{L^{j}}{4^{j}} \varphi(x, y)=\frac{L}{1-L} \varphi(x, y)<\infty
$$

for all $x, y \in A$. By Theorem 2.3, the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Theorem 2.6. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function such that there exists an $L<1$ with

$$
\begin{equation*}
\varphi(x, y) \leq 4 L \varphi\left(\frac{x}{2}, \frac{y}{2}\right), \tag{2.7}
\end{equation*}
$$

for all $x, y \in A$. Let $g, h: A \rightarrow A$ be mappings satisfying $g(0)=h(0)=0$, (2.3) and (2.4). Then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Proof. It follows from (2.7) that

$$
\sum_{j=1}^{\infty} \frac{1}{4^{j}} \varphi\left(2^{j} x, 2^{j} y\right) \leq \sum_{j=1}^{\infty} \frac{1}{4^{j}}(4 L)^{j} \varphi(x, y)=\frac{L}{1-L} \varphi(x, y)<\infty,
$$

for all $x, y \in A$. By Theorem 2.4, the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Remark 2.7. In (2.4), the pair ( $g, h$ ) of a derivation $g$ and a homomorphism $h$ can be replaced by the pair of a derivation and a derivation or the pair of a homomorphism and a homomorphism.

## 3. Additive-additive $(s, t)$-functional inequality ( 0.1 ) in $C^{*}$-algebras

In this section, we study homorphisms and derivations in unital $C^{*}$-algebras associated to the additive-additive ( $s, t$ )-functional inequality (2.1) by using a similar method to the fixed point alternative. Throughout this scetion, assume that $A$ is a unital $C^{*}$-algebra with unitary group $U(A)$.

Theorem 3.1. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function satisfying (2.2). Let $g, h: A \rightarrow A$ be mappings satisfying $g(0)=h(0)=0$ and (2.3). If $g, h: A \rightarrow A$ satisfy

$$
\begin{equation*}
\|g(u v)-g(u) v-u g(v)\|+\|h(u v)-h(u) h(v)\| \leq \varphi(u, v), \tag{3.1}
\end{equation*}
$$

for all $u, v \in U(A)$, then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Proof. Let $\lambda=1$ in (2.3). By Lemma 2.1, the mappings $g, h: A \rightarrow A$ are additive.
It follows from (2.3) that

$$
\begin{aligned}
& \|g(\lambda(x+y))-\lambda g(x)-\lambda g(y)\|+\|h(\lambda(x+y))-\lambda h(x)-\lambda h(y)\| \\
& \leq\|s(g(\lambda(x+y))-\lambda g(x)-\lambda g(y))\|+\|t(h(\lambda(x+y))-\lambda h(x)-\lambda h(y))\|,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y \in A$. Since $|s|<1$ and $|t|<1$,

$$
\begin{aligned}
& g(\lambda(x+y))-\lambda g(x)-\lambda g(y)=0, \\
& h(\lambda(x+y))-\lambda h(x)-\lambda h(y)=0,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y \in A$. Thus by Lemma 2.2, the mappings $g, h: A \rightarrow A$ are $\mathbb{C}$-linear.
Since $D$ is $\mathbb{C}$-linear in the first variable and each $y \in A$ is a finite linear combination of unitary elements (see [9]), i.e., $y=\sum_{i=1}^{k} \lambda_{i} v_{i}\left(\lambda_{i} \in \mathbb{C}, v_{i} \in U(A)\right)$.

$$
\begin{aligned}
g(u y) & =g\left(u \sum_{i=1}^{k} \lambda_{i} v_{i}\right)=\sum_{i=1}^{k} \lambda_{i} g\left(u v_{i}\right)=\sum_{i=1}^{k} \lambda_{i}\left(g(u) v_{i}+u g\left(v_{i}\right)\right) \\
& =\left(\sum_{i=1}^{k} \lambda_{i}\right) g(u) v_{i}+\left(\sum_{i=1}^{k} \lambda_{i} u\right) g\left(v_{i}\right)=g(u) y+u g(y),
\end{aligned}
$$

for all $x, y \in A$.
Similarly, let $x=\sum_{j=1}^{m} \lambda_{j} u_{j}\left(\lambda_{j} \in \mathbb{C}, u_{j} \in U(A)\right)$. Then

$$
\begin{aligned}
g(x y) & =g\left(\sum_{j=1}^{m} \lambda_{j} u_{j} y\right)=\sum_{j=1}^{m} \lambda_{j} g\left(u_{j} y\right)=\sum_{j=1}^{m} \lambda_{j}\left(g\left(u_{j}\right) y+u_{j} g(y)\right) \\
& =\left(\sum_{j=1}^{m} \lambda_{j}\right) g\left(u_{j}\right) y+\left(\sum_{j=1}^{m} \lambda_{j} u_{j}\right) g(y)=g(x) y+x g(y),
\end{aligned}
$$

for all $x, y \in A$. So

$$
g(x y)-g(x) y-x g(y)=0
$$

for all $x, y \in A$. Hence the $\mathbb{C}$-linear mapping $g: A \rightarrow A$ is a derivation.
Since $D$ is $\mathbb{C}$-linear in the first variable and each $y \in A$ is a finite linear combination of unitary elements (see [9]), $y=\sum_{i=1}^{k} \lambda_{i} v_{i}\left(\lambda_{i} \in \mathbb{C}, v_{i} \in U(A)\right)$,

$$
h(u y)=h\left(u \lambda \sum_{i=1}^{k} v_{i}\right)=\sum_{i=1}^{k} \lambda_{i} h\left(u v_{i}\right)=\sum_{i=1}^{k} \lambda_{i}\left(h(u) h\left(v_{i}\right)\right)=h(u) h(y),
$$

for all $x, y \in A$.
Similarly, let $x=\sum_{j=1}^{m} \lambda_{j} u_{j}\left(\lambda_{j} \in \mathbb{C}, u_{j} \in U(A)\right)$. Then

$$
h(x y)=h\left(\lambda \sum_{i=1}^{m} u_{j} y\right)=\sum_{j=1}^{m} \lambda_{j} h\left(u_{j} y\right)=\sum_{j=1}^{m} \lambda_{j}\left(h\left(u_{j}\right) h(y)\right)=h(x) h(y),
$$

for all $x, y \in A$. So

$$
h(x y)-h(x) h(y)=0
$$

for all $x, y \in A$. Hence the $\mathbb{C}$-linear mapping $g: A \rightarrow A$ is a homomorphism.
Theorem 3.2. Let $\varphi: A^{2} \rightarrow[0, \infty)$ be a function and $g, h: A \rightarrow A$ be mappings satisfying $g(0)=$ $h(0)=0$, (2.3), (3.1) and (2.5). Then the mapping $g: A \rightarrow A$ is a derivation and the mapping $h: A \rightarrow A$ is a homomorphism.

Proof. The proof is similar to the proofs of Theorems 2.4 and 3.1.
Remark 3.3. Using the fixed point method given in Theorems 2.5 and 2.6 , one can obtain the same results as in Theorems 3.1 and 3.2.

## 4. Additive-additive $(s, t)$-functional inequality $(0.2)$ in $C^{*}$-ternary algebras

In this section, we solve and investigate the additive-additive $(s, t)$-functional inequality $(0.2)$ in $C^{*}$-ternary algebras.

Lemma 4.1. If mappings $g, h: B \rightarrow B$ satisfy $g(0)=h(0)=0$ and

$$
\begin{align*}
& \|g(x+y+z)-g(x)-g(y)-g(z)\| \\
& +\left\|3 h\left(\frac{x+y+z}{3}\right)+h(x-2 y+z)+h(x+y-2 z)-3 h(x)\right\|  \tag{4.1}\\
& \leq\left\|s\left(3 g\left(\frac{x+y+z}{3}\right)-g(x)-g(y)-g(z)\right)\right\| \\
& +\|t(h(x+y+z)+h(x-2 y+z)+h(x+y-2 z)-3 h(x))\|,
\end{align*}
$$

for all $x, y, z \in B$, then the mappings $g, h: B \rightarrow B$ are additive.
Proof. Letting $x=y=z$ in (4.1), we get

$$
\|g(3 x)-3 g(x)\| \leq\|t(h(3 x)-3 h(x))\|,
$$

for all $x \in B$.
Letting $y=z=0$ in (4.1), we get

$$
\left\|3 h\left(\frac{x}{3}\right)-h(x)\right\| \leq\left\|s\left(3 g\left(\frac{x}{3}\right)-g(x)\right)\right\|
$$

and so

$$
\|3 h(x)-h(3 x)\| \leq\|s(3 g(x)-g(3 x))\|,
$$

for all $x \in B$. Thus

$$
\begin{aligned}
& \|g(3 x)-3 g(x)\| \leq\|s t(3 g(x)-g(3 x))\|, \\
& \|3 h(x)-h(3 x)\| \leq\|s t(h(3 x)-3 h(x))\|,
\end{aligned}
$$

for all $x \in B$. So $h(3 x)=3 h(x)$ and $g(3 x)=3 g(x)$ for all $x \in B$, since $|s t|<1$. It follows from (4.1) that

$$
\begin{aligned}
& \|g(x+y+z)-g(x)-g(y)-g(z)\| \\
& +\|h(x+y+z)+h(x-2 y+z)+h(x+y-2 z)-3 h(x)\| \\
& \leq\|s(g(x+y+z)-g(x)-g(y)-g(z))\| \\
& +\|t(h(x+y+z)+h(x-2 y+z)+h(x+y-2 z)-3 h(x))\|,
\end{aligned}
$$

for all $x, y, z \in B$. Thus

$$
\begin{gathered}
g(x+y+z)-g(x)-g(y)-g(z)=0, \\
h(x+y+z)+h(x-2 y+z)+h(x+y-2 z)-3 h(x)=0,
\end{gathered}
$$

for all $x, y, z \in A$, since $|s|<1$ and $|t|<1$. So the mappings $g, h: B \rightarrow B$ are additive.

Now, we investigate $C^{*}$-ternary homomorphisms and $C^{*}$-ternary derivations in $C^{*}$-ternary algebras associated to the additive-additive ( $s, t$ )-functional inequality (4.1).

Theorem 4.2. Let $\varphi: B^{3} \rightarrow[0, \infty)$ be a function such that

$$
\begin{equation*}
\sum_{j=1}^{\infty} 8^{j} \varphi\left(\frac{x}{2^{j}}, \frac{y}{2^{j}}, \frac{z}{2^{j}}\right)<\infty \tag{4.2}
\end{equation*}
$$

for all $x, y, z \in B$. Let $g, h: B \rightarrow B$ be mappings satisfying $g(0)=h(0)=0$ and

$$
\begin{align*}
& \|g(\lambda(x+y+z))-\lambda(g(x)+g(y)+g(z))\| \\
& +\left\|3 h\left(\lambda \frac{x+y+z}{3}\right)+\lambda(h(x-2 y+z)+h(x+y-2 z)-3 h(x))\right\|  \tag{4.3}\\
& \leq\left\|s\left(3 g\left(\lambda \frac{x+y+z}{3}\right)-\lambda(g(x)+g(y)+g(z))\right)\right\| \\
& +\|t(h(\lambda(x+y+z))+\lambda(h(x-2 y+z)+h(x+y-2 z)-3 h(x)))\|,
\end{align*}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y, z \in B$. If $g, h: B \rightarrow B$ satisfy

$$
\begin{align*}
& \|g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)]\|  \tag{4.4}\\
& +\|h([x, y, z])-[h(x), h(y), h(z)]\| \leq \varphi(x, y, z),
\end{align*}
$$

for all $x, y, z \in B$, then the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Proof. Let $\lambda=1$ in (4.3). By Lemma 4.1, the mappings $g, h: B \rightarrow B$ are additive.
It follows from (4.3) that

$$
\begin{aligned}
& \|g(\lambda(x+y+z))-\lambda(g(x)+g(y)+g(z))\| \\
& +\|h(\lambda(x+y+z))+\lambda(h(x-2 y+z)+h(x+y-2 z)-3 h(x))\| \\
& \leq\|s(g(\lambda(x+y+z))-\lambda(g(x)+g(y)+g(z)))\| \\
& +\|t(h(\lambda(x+y+z))+\lambda(h(x-2 y+z)+h(x+y-2 z)-3 h(x)))\|,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y, z \in B$. Since $|s|<1$ and $|t|<1$,

$$
\begin{aligned}
g(\lambda(x+y+z))-\lambda(g(x)+g(y)+g(z)) & =0, \\
h(\lambda(x+y+z))+\lambda(h(x-2 y+z)+h(x+y-2 z)-3 h(x)) & =0,
\end{aligned}
$$

for all $\lambda \in \mathbb{T}^{1}$ and all $x, y, z \in B$. Thus by Lemma 2.2, the mappings $g, h: B \rightarrow B$ are $\mathbb{C}$-linear.
It follows from (4.4) and the additivity of $g, h$ that

$$
\begin{aligned}
& \|g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)]\| \\
& +\|h([x, y, z])-[h(x), h(y), h(z)]\| \\
& =8^{n}\left\|g\left(\frac{[x, y, z]}{8^{n}}\right)-\left[g\left(\frac{x}{2^{n}}\right), \frac{y}{2^{n}}, \frac{z}{2^{n}}\right]-\left[\frac{x}{2^{n}}, g\left(\frac{y}{2^{n}}\right), \frac{z}{2^{n}}\right]-\left[\frac{x}{2^{n}}, \frac{y}{2^{n}}, g\left(\frac{z}{2^{n}}\right)\right]\right\|
\end{aligned}
$$

$$
\begin{aligned}
& +8^{n}\left\|h\left(\frac{[x, y, z]}{8^{n}}\right)-\left[h\left(\frac{x}{2^{n}}\right), h\left(\frac{y}{2^{n}}\right), h\left(\frac{z}{2^{n}}\right)\right]\right\| \\
& \leq 8^{n} \varphi\left(\frac{x}{2^{n}}, \frac{y}{2^{n}}, \frac{z}{2^{n}}\right),
\end{aligned}
$$

which tends to zero as $n \rightarrow \infty$, by (4.2). So

$$
\begin{aligned}
g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)] & =0, \\
h([x, y, z])-[h(x), h(y), h(z)] & =0,
\end{aligned}
$$

for all $x, y, z \in B$. Hence the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Theorem 4.3. Let $\varphi: B^{3} \rightarrow[0, \infty)$ be a function and $g, h: B \rightarrow B$ be mappings satisfying $g(0)=$ $h(0)=0$, (4.3), (4.4) and

$$
\begin{equation*}
\sum_{j=1}^{\infty} \frac{1}{8^{j}} \varphi\left(2^{j} x, 2^{j} y, 2^{j} z\right)<\infty, \tag{4.5}
\end{equation*}
$$

for all $x, y, z \in B$. Then the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Proof. By the same reasoning as in the proof of Theorem 4.2, one can show that the mappings $g, h$ : $B \rightarrow B$ are $\mathbb{C}$-linear.

It follows from (4.4) and the additivity of $g, h$ that

$$
\begin{aligned}
& \|g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)]\| \\
& +\|h([x, y, z])-[h(x), h(y), h(z)]\| \\
& =\frac{1}{8^{n}}\left\|g\left(8^{n}[x, y, z]\right)-\left[g\left(2^{n} x\right), 2^{n} y, 2^{n} z\right]-\left[2^{n} x, g\left(2^{n} y\right), 2^{n} z\right]-\left[2^{n} x, 2^{n} y, g\left(2^{n} z\right)\right]\right\| \\
& +\frac{1}{8^{n}}\left\|h\left(8^{n}[x, y, z]\right)-\left[h\left(2^{n} x\right), h\left(2^{n} y\right), h\left(2^{n} z\right)\right]\right\| \\
& \leq \frac{1}{8^{n}} \varphi\left(2^{n} x, 2^{n} y, 2^{n} z\right),
\end{aligned}
$$

which tends to zero as $n \rightarrow \infty$, by (4.5). So

$$
\begin{aligned}
g([x, y, z])-[g(x), y, z]-[x, g(y), z]-[x, y, g(z)] & =0, \\
h([x, y, z])-[h(x), h(y), h(z)] & =0,
\end{aligned}
$$

for all $x, y, z \in B$. Hence the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Next, we investigate $C^{*}$-ternary homomorphisms and $C^{*}$-ternary derivations in $C^{*}$-ternary algebras associated to the additive-additive ( $s, t$ )-functional inequality (4.1) by using a similar method to the fixed point alternative.

Theorem 4.4. Let $\varphi: B^{3} \rightarrow[0, \infty)$ be a function such that there exists an $L<1$ with

$$
\begin{equation*}
\varphi\left(\frac{x}{2}, \frac{y}{2}, \frac{z}{2}\right) \leq \frac{L}{8} \varphi(x, y, z), \tag{4.6}
\end{equation*}
$$

for all $x, y, z \in B$. Let $g, h: B \rightarrow B$ be mappings satisfying $g(0)=h(0)=0$, (4.3) and (4.4). Then the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Proof. It follows from (4.6) that

$$
\sum_{j=1}^{\infty} 8^{j} \varphi\left(\frac{x}{2^{j}}, \frac{y}{2^{j}}, \frac{z}{2^{j}}\right) \leq \sum_{j=1}^{\infty} 8^{j} \frac{L^{j}}{8^{j}} \varphi(x, y, z)=\frac{L}{1-L} \varphi(x, y, z)<\infty,
$$

for all $x, y, z \in B$. By Theorem 4.2, the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Theorem 4.5. Let $\varphi: B^{3} \rightarrow[0, \infty)$ be a function such that there exists an $L<1$ with

$$
\begin{equation*}
\varphi(x, y, z) \leq 8 L \varphi\left(\frac{x}{2}, \frac{y}{2}, \frac{z}{2}\right), \tag{4.7}
\end{equation*}
$$

for all $x, y, z \in B$. Let $g, h: B \rightarrow B$ be mappings satisfying $g(0)=h(0)=0$, (4.3) and (4.4). Then the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Proof. It follows from (4.7) that

$$
\sum_{j=1}^{\infty} \frac{1}{8^{j}} \varphi\left(2^{j} x, 2^{j} y, 2^{j} z\right) \leq \sum_{j=1}^{\infty} \frac{1}{8^{j}}(8 L)^{j} \varphi(x, y, z)=\frac{L}{1-L} \varphi(x, y, z)<\infty,
$$

for all $x, y, z \in B$. By Theorem 4.3, the mapping $g: B \rightarrow B$ is a $C^{*}$-ternary derivation and the mapping $h: B \rightarrow B$ is a $C^{*}$-ternary homomorphism.

Remark 4.6. In (4.4), the pair $(g, h)$ of a $C^{*}$-ternary derivation $g$ and a $C^{*}$-ternary homomorphism $h$ can be replaced by the pair of a $C^{*}$-ternary derivation and a $C^{*}$-ternary derivation or the pair of a $C^{*}$-ternary homomorphism and a $C^{*}$-ternary homomorphism.

## 5. Conclusions

We have introduced the following additive-additive ( $s, t$ )-functional inequality ( 0.1 ) and have investigated homomorphisms and derivations in complex Banach algebras and unital $C^{*}$-algebra, associated to the additive-additive $(s, t)$-functional inequality ( 0.1 ) and the functional inequality (1.1). Moreover, we have introduced the following additive-additive ( $s, t$ )-functional inequality ( 0.2 ) and have investigated $C^{*}$-ternary derivations and $C^{*}$-ternary homomorphisms in $C^{*}$-ternary algebras, associated to the additive-additive $(s, t)$-functional inequality ( 0.2 ) and the functional inequality (1.2).

## Conflict of interests

The authors declare no conflicts of interest in this paper.

## References

1. T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64-66.
2. J. Bae, I. Chang, Some additive mappings on Banach *-algebras with derivation, J. Nonlinear Sci. Appl., 11 (2018), 335-341.
3. P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math., 27 (1984), 76-86.
4. Y. Ding, Ulam-Hyers stability of fractional impulsive differential equations, J. Nonlinear Sci. Appl., 11 (2018), 953-959.
5. N. Eghbali, J. M. Rassias, M. Taheri, On the stability of a $k$-cubic functional equation in intuitionistic fuzzy n-normed spaces, Results Math., 70 (2016), 233-248.
6. G. Z. Eskandani, P. Gǎvruta, Hyers-Ulam-Rassias stability of pexiderized Cauchy functional equation in 2-Banach spaces, J. Nonlinear Sci. Appl., 5 (2012), 459-465.
7. P. Gǎvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 184 (1994), 431-436.
8. D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. USA, 27 (1941), 222-224.
9. R. V. Kadison and J. R. Ringrose, Fundamentals of the Theory of Operator Algebras: Elementary Theory, Academic Press, New York, 1983.
10. C. Park, Homomorphisms between Poisson JC*-algebras, B. Braz. Math. Soc., 36 (2005), 79-97.
11. C. Park, Additive $\rho$-functional inequalities and equations, J. Math. Inequal., 9 (2015), 17-26.
12. C. Park, Additive $\rho$-functional inequalities in non-Archimedean normed spaces, J. Math. Inequal., 9 (2015), 397-407.
13. V. Radu, The fixed point alternative and the stability of functional equations, Fixed Point Theory, 4 (2003), 91-96.
14. Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc., 72 (1978), 297-300.
15. F. Skof, Propriet locali e approssimazione di operatori, Rend. Sem. Mat. Fis. Milano, 53 (1983), 113-129.
16. S. M. Ulam, A Collection of the Mathematical Problems, Interscience Publication, New York, 1960.
17. Z. Wang, Stability of two types of cubic fuzzy set-valued functional equations, Results Math., 70 (2016), 1-14.
18. H. Zettl, A characterization of ternary rings of operators, Adv. Math., 48 (1983), 117-143.
© 2020 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
